POTTERYDBARN

4ft smart speaker shelf
mounting instructions

maximum weight capacity (add after testing)
WARNING:
- Electrical shock hazard may cause death or serious injury.
- Do not operate Speaker using AC adapter near water. AC adapter is meant for Indoor Use Only. Always plug
adapter into Speaker before plugging into outlet.
- This power unit is intended to be correctly orientated in a vertical or floor mount position
- Excessive exposure to audio equipment at high volume may lead to hearing loss.

CAUTION: To reduce the risk of electric shock and fire, do not open any section on the Speaker Shelf. There are
no user serviceable parts inside.

Note: This hanging system is meant for dry wall/stud mounting only. If walls are concrete, brick or plaster, please
consult your local hardware store for assistance. For safety and ease of mounting, installation is recommended
using two people.

Tools needed:
e Electronic stud Finder, #2 Phillips screwdriver, Drill with #2 Phillips bit, Pencil

Hardware Included:

(1) Wall Mounting Bracket with Bubble Level % Stud Mounting Screw
(5) Stud Mounting Screws (1.5” screws with sharp tip)

(2) Toggle Anchors Toggle Screw

(2) Toggle Screws

(The Toggle Anchors and Toggle Screws are meant for dry Toggle Anchor

Accessories Included:
° (1) Stereo Cord — (A)
° (1) AC Adapter — (B)

Mounting Instructions:
1. Determine the desired placement on the wall for the product. Within the desired mounting location,
locate the wall studs using the electronic stud finder and mark stud locations using the pencil. (Note:
It is best to mount the bracket to at least (1) stud, using the illustrative graph shown below for
reference.)

2. Determine which wall mount bracket hole or holes on the wall that will be centered on a stud. The
hole positions that are centered over studs will use the Stud Mounting Screws for mounting the
bracket.

Insert the included bubble level into the bubble level track, as close to the center of the wall mount
bracket as possible.

Place the wall mount bracket at the desired location on wall and confirm that the bracket is level.
With the pencil, mark the mounting screw hole locations on the wall with the pencil.

Remove the wall mount bracket and set aside.

w

ook

Seud Togole Toggle Stud Mounting
[ \ : 1. Install the wall mount bracket onto the wall using the Stud Mounting
s ——————————— Screw at one of the stud locations first, using the #2 Phillips
screwdriver or the drill with a #2 Phillips bit. Insert the first Stud
Toggle st Toggle Mounting Screw through the hole in the wall mount bracket and
‘ | tighten clockwise. Leave the Stud Mounting Screw slightly loose so
""""""""" that the wall mount bracket can still be rotated and the wall mount
bracket area on the wall is exposed for installing the dry wall toggle
foste r“T"‘ S anchor(s).

“Left Shewed Installation”

s & s s s s s = & & & & & & & _s_=a

“Fight Skewed Installation”

Hangman HMP-18 18" Wall Bracket



Dry Wall Mounting

1.

Use the #2 Phillips screwdriver to install the toggle anchor(s).

Important Note: Do not use the drill to install the toggle anchors. Also do not force or “pound” the anchor into the
wall. The toggle anchor is designed to cleanly cut and bore itself into the wall somewhat like a drill bit.

2.

Slowly turn the anchor clockwise while applying even pressure until the flange just touches the wall. If the
anchor position is close to a stud (1/2” or less), keep turning clockwise until one of the arrows on the flange is
pointing to the 12 o’clock position.

Insert the toggle screw into the toggle anchor turning clockwise. At this point, you will feel a slight resistance.
This is the point where the toggle anchor screw is engaging the pivoting portion of the anchor. Continue
turning the screw clockwise until the screw head touches the flange. Tighten the toggle anchor screw until it
becomes difficult to turn. At this point the internal pivot will have engaged the backside of the dry wall.
Remove the toggle anchor screw, turning counter-clockwise.

Align the wall mount bracket on the wall over the toggle anchor(s), and re-insert toggle anchor screw(s) with
the #2 Phillips screwdriver until tight.

Hanging the Product:

1
2

5

W

. On the back of your product is an affixed product-mounting bracket.
. Carefully position the product-mounting bracket over the wall mount bracket, insuring that the two brackets are

aligned.
Press down firmly to engage the two brackets.

On the bottom of your product is a pre-drilled holes, you may tighten your product to the wall by screwing
stud mounting screw into wall anchor at desired position. Insert the wood caps into the pre-drilled holes.

. Your product is ready for use.

Operating Instructions:

1.
2.

3.

Make sure Speaker is turned off. (rotate On/Off/Volume dial all the way to the left).

Insert small end of the enclosed AC adapter into Adapter Input port on outward/ bottom facing side of the right
Speaker. (see illustration).

Plug other end of adapter into an AC power source (standard wall outlet). NOTE: Use only power adapters with
the following specifications: Input: 120v AC 60 Hz; Output: 12v DC 800 mA; UL and CUL Listed.

Plug the input connector end of the Stereo Cord into the input jack on the left side of right speaker box (see
illustration).Plug the other end of the Stereo Cord into the headphones jack on your MP3 player.

Turn the speaker on and ensure volume control is set at a low level.

Play music using the MP3'’s controls and adjust the volume either by using the Speaker Shelf’s volume control
(rotating the dial to the right increases the volume) or your MP3 player’s volume control. (NOTE: you may need
to experiment to find the right volume setting for the MP3 player and/or the speaker shelf)

Maintenance and Repair
If a problem occurs while using this product, please contact us at 1-800-922-9934. DO NOT open unit or attempt to
repair on your own.

Care Instructions:

Dust with a soft, dry cloth. Do not use glass cleaner, abrasives, wax or household cleaners as they may
damage the finish on the product.



@ =% ,"/;:) E*[m—bEE}

thank you for your purchase
store | catalog | www.potterybarn.com



